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            SSLC EXAM 2022 

 

          The Worksheet consists of 5 sets of questions, Practice all the questions 

SET NO.              UNIT     REMARKS Completed(Y/N) 

1.  Constructions   

2.  Solving a pair of Linear Equations 

by Graphical Method 

  

3.  Applications of Trigonometry   

4.  Quadratic Equations   

5.  Theorems (5 Marks)   
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                                      SET – 01: Constructions  

1. Construct a triangle of sides 4cm, 5cm and 6cm then construct another triangle whose 

corresponding sides are 3/5 of the sides of the first triangle. 
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a.  Construct a triangle of sides 4cm, 5cm and 6cm then construct another triangle whose 

corresponding sides are 2/3 of the sides of the first triangle. 
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b. Construct a triangle of sides 5cm, 6cm and 7cm then construct another triangle whose 

corresponding sides are 3/5 of the sides of the first triangle. 
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c. Construct a triangle of sides 5cm, 6cm and 7cm then construct another triangle whose 

corresponding sides are 7/5 of the sides of the first triangle. 
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             SET – 02 : A Pair of Linear Equations in two variables  

1. Solve graphically x + y = 5 and 2x – y = 4 

x + y = 5   

x    

y    

 

2x – y = 4 

x    

y    
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a.  Solve graphically x + y = 5 and x – y = 3 
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c. Solve graphically x + y = 5 and 2x + y = 7 
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d. Solve graphically x + y = 4 and 2x - y = 5 
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e. Solve graphically x - y = 2 and 2x + y = 7 
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                       SET – 03 : Applications Of Trigonometry 

1. A statue, 1.6 m tall, stands on the top of a pedestal. From a point on the ground, the angle 

of elevation of the top of the statue is 60° and from the same point the angle of elevation of 

the top of the pedestal is 45°. Find the height of the pedestal. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 
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2. From a point on the ground, the angles of elevation of the bottom and the top of a 

transmission tower fixed at the top of a 20 m high building are 45° and 60° respectively. Find 

the height of the tower. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

  __________________________________________________________________________________ 
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3. The angle of elevation of the top of a building from the foot of the tower is 30° and the angle 

of elevation of the top of the tower from the foot of the building is 60°. If the tower is 50 m 

high, find the height of the building. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

  ___________________________________________________________________________________ 
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4. A tree breaks due to storm and the broken part bends so that the top of the tree touches 

the ground making an angle 30° with it. The distance between the foot of the tree to the point 

where the top touches the ground is 8 m. Find the height of the tree. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

  __________________________________________________________________________________ 
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5. A TV tower stands vertically on a bank of a canal. From a point on the other bank directly 

opposite the tower, the angle of elevation of the top of the tower is 60°. From another point 

20 m away from this point on the line joining this point to the foot of the tower, the angle of 

elevation of the top of the tower is 30°. Find the height of the tower and the width of the 

canal. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 
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6. The angles of elevation of the top of a tower from two points at a distance of 4 m and 9 m 

from the base of the tower and in the same straight line with it are complementary. Prove 

that the height of the tower is 6 m. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

  __________________________________________________________________________________ 
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7. From a point P on the ground, the angle of elevation of a 10 m tall building is 300. A flag is 

hoisted at the top of the building and the angle of elevation of the top of the flagstaff from P 

is 450. Find the length of the flagstaff and the distance of the building from the point P. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

  ___________________________________________________________________________________ 
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8. A straight highway leads to the foot of a tower. A man standing at the top of the tower 

observes a car at an angle of depression of 30°, which is approaching the foot of the tower 

with a uniform speed. Six seconds later, the angle of depression of the car is found to be 60°. 

Find the time taken by the car to reach the foot of the tower from this point. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 
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9. As observed from the top of a 75 m high lighthouse from the sea-level, the angles of 

depression of two ships are 30° and 45°. If one ship is exactly behind the other on the same 

side of the lighthouse, find the distance between the two ships. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

  __________________________________________________________________________________ 
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10. Two poles of equal heights are standing opposite each other on either side of the road, 

which is 80 m wide. From a point between them on the road, the angles of elevation of the 

top of the poles are 60° and 30°, respectively. Find the height of the poles and the distances 

of the point from the poles. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

  __________________________________________________________________________________ 
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11. The shadow of a tower standing on a level ground is found to be 40 m longer when Suns 

altitude is 30 than when it was 60. Find the height of the tower. 

                                                             _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

                                                           _________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

   __________________________________________________________________________________ 

                   Solve More Questions from Textbook to make your concept clear 
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                                          SET – 04 : Quadratic Equations  

1. The sum of the reciprocals of Rehman’s ages, (in years) 3 years ago and 5 years from now 

is 1/3. Find his present age.  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 
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2. The diagonal of a rectangular field is 60 metres more than the shorter side. If the longer 

side is 30 metres more than the shorter side, find the sides of the field. 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 
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3. A train travels 360 km at a uniform speed. If the speed had been 5 km/h more, it would 

have taken 1 hour less for the same journey. Find the speed of the train. 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 
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4. An express train takes 1 hour less than a passenger train to travel 132 km between Mysore 

and Bangalore. If the average speeds of the express train is 11 km/h more than that of the 

passenger train, find the average speed of the two trains. 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 
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5. In a class test, the sum of Shefali’s marks in Mathematics and English is 30. Had she got 

2 marks more in Mathematics and 3 marks less in English, the product of their marks would 

have been 210. Find her marks in the two subjects. 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 
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6. A cottage industry produces a certain number of pottery articles in a day. It was observed 

on a particular day that the cost of production of each article (in rupees) was 3 more than 

twice the number of articles produced on that day. If the total cost of production on that day 

was Rs.90, find the number of articles produced and the cost of each article. 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  
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7. John and Jivanti together have 45 marbles. Both of them lost 5 marbles each, and the 

product of the number of marbles they now have is 124. Find the number of marbles with 

John and Jivanti. 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 
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8. Rohan’s mother is 26 years older than him. The product of their ages (in years) 3 years 

from now will be 360. find Rohan’s present age. 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 
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9. A train travels a distance of 480 km at a uniform speed. If the speed had been 8 km/h less, 

then it would have taken 3 hours more to cover the same distance. Find the speed of the 

train. 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 
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10. Find the roots of the following equations:    

                                                          𝑥 ≠  −4 , 7 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________  

____________________________________________________________________________ 
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                                SET – 05: Theorems (5 Marks) 

1. State and Prove Thales theorem.  
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2. State and Prove Pythagoras Theorem.  
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3. If in two triangles, corresponding angles are equal, then their 

corresponding sides are in the same ration and hence two triangles are 

similar. 

 

4. The ratio of the areas of two similar triangles is equal to the square of the 

ratio of their corresponding sides. 

 

5. Converse of Pythagoras Theorem  

 

 

 

 

                                           Best Wishes for SSLC Exam 2022 

For More Questions with solutions, Check and subscribe  

“Arun Maths Hub “ on You tube 

 

• Make a two copy of this workbook, one for practice and another to write self-test 

• List all the Formulae and don’t limit yourself to this workbook solve few more 

questions from other chapters too 

• Practice all the questions and write self-test 

• Solve few more similar questions from Text book and from model papers  

• Solve KSEEB Model paper and Preparatory paper 

• Students you are very clever and intelligent just you need little practice and hard 

work to score good marks in exams. 

 

https://youtube.com/c/ARUNMATHSHUB

